bnopolist’s Demand, Total Revenue, and Marginal Revenue Curves
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The Monopolist’s Profit-Maximizing Output and Price

e To maximize profit [II (Q)= TR (Q)— TC(Q)], the monopolist
compares marginal cost with marginal revenue.

 |If marginal revenue exceeds marginal cost, De Beers
increases profit by producing more; if marginal revenue is
less than marginal cost, De Beers increases profit by
producing less.

e So the monopolist maximizes its profit by using the optimal

output rule:
= At the monopolist’s profit-maximizing quantity of output:

IT(Q) = TR*(Q)-TC*(Q)

MR = MC




The Monopolist’s Profit-Maximizing Output and Price

Price, cost, marginal

B & ofldemand The optimal output rule: The profit

maximizing level of output for the
monopolist is at MR = MC, shown by
point A, where the MC and MR curves

cross at an output of 8 diamonds.
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Regulated Natural Monopoly: Wasserpreise und

%1 zweigliedrige Tarife

- Durchschnittskostenregulierung: Steigende Preise bel
sinkender Nachfrage

|||||

I Zweiteilige (zwelgliedrige) Tarife:
¥I Grundgebiuhr + verbrauchsabhangige Nutzungsgebuhr

Price,
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marginal
revenue
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